
B
6

 B
E

L
K

A
 R

4
0

0
x
3

0
0

m
m

  s
k
a

la
 1

:2
0

min.60°

min.60°

13

Ø

Ø

2
5

M
P

a

C
3

0
/3

7

W
S

K
A
Ź

N
IK

 Z
B

R
O

J
E

N
IA

 [k
g

/m
3

]
T

Y
P

 S
T

A
L

I
z
b

ro
je

n
io

w
a

1
8

4
,5

2

2
1

0
4
3

4
0

2
1

0

205 195

205 195

4
7

6
0

9
0

4
5

8
0

9
0

1

9
5

0
2
8

6
0

9
5

0
2

3

4
5

9
0

5
0

5
0

4
2

9
0

5
0

5
0

9
0

4
5

2
8

5
4
x
5

0
=

2
0

0
6
x
1

2
5
=

7
5

0
6
x
1

2
5
=

7
5

0
4
x
5

0
=

2
0

0
2
8

5

4
6

9
0

4
2

7
0

200

9
2

5

9
2

5

105

1
0

2
5

1
0

2
5

310

5
6

0

5
6

0

210

6
5

0

6
5

0

210

3
0

0

3
0

0

3
1

Ø
8

8
Ø

8

400

-
-

-

m
g
r in
ż
. A

n
d

rz
e
j B

a
d

o
w

s
k
i

4
2

0
/8

8
/W

Ł

m
g
r in
ż
. T

o
m

a
s
z
 K

ra
k
o

w
ia

k
------

P
ro

je
k
t u

z
u
p

e
łn

ia
ją

c
y

1
2

.2
0

1
7

1
:2

0

-
K

o
n

s
tru

k
c
ja

------

-
-

-

-
-

-

-
-

-

M
o

d
e

rn
iz

a
c

ja
 o

b
ie

k
tó

w
 s

p
o

rto
w

y
c

h
 M

O
S

iR
 w

 Z
g

ie
rz

u
 p

rz
y

 u
l. W

s
c

h
o

d
n

ie
j 2

 w
 c

e
lu

 
p

o
p

ra
w

y
 w

a
ru

n
k

ó
w

 tre
n

in
g

ó
w

 z
a

p
a
ś

n
ik

ó
w

 i łu
c

z
n

ik
ó

w
 –

 ro
z
b

u
d

o
w

a
 is

tn
ie

ją
c

e
j h

a
li o

 
n

o
w
ą

 h
a
lę

 w
ie

lo
fu

n
k

c
y

jn
ą
.

G
m

in
a

 M
ia

s
to

 Z
g

ie
rz

 z
 s

ie
d

z
ib
ą

: P
la

c
 J

a
n

a
 P

a
w

ła
 II 1

6
, 9

5
 –

 1
0

0
 Z

g
ie

rz

8
x
2

5
0
=

2
0

0
0

1
4

5
1
4

5

m
g
r in
ż
. R

o
b

e
rt S

z
y
m

o
r

1
8
0

1
8
0

45

Ø
3
2

P
rę

t Ø
8

B
5

0
0

A
/B

L
=

4
0

5
m

m
s
z
t.-2

s
k
a

la
 1

:1
0

3

30°

1
0

0
1
0

0
1
0

0

1
7
0

6
0

4
0

6
0

7
0

195

3
0

0

5
6

1
8

8
5
6

57138

2
Ø

2
0

1
3

7
2
6

1
3

7
2
Ø

1
2

14055 1Ø16

753090 2Ø8

205 195

34357

5
6

9
4

9
4

5
6

3
Ø

2
0

8
0

1
4

0
8
0

2
Ø

1
6

22080100 2Ø8

1
5

0
1
5

0
2

3400

3
0

0

L
=

1
3

2
0

m
m

s
z
t.-3

1
s
k
a

la
 1

:1
0

L
=

9
1

0
m

m
s
z
t.-8

s
k
a

la
 1

:1
0

Ø
8

Ø
8


